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Assignment (July, 2014)
BEDO07
Computer Literacy & Educational Application
ST ATEIAT Ut Toream & ot
Max Marks: 20

Note: The Internal Assignment has been divided into three sections A, B, and C. Write

Answer as per the given instruction.
AT e o T T ‘A’,B’ 3R C AT @uet # fawiiid 8] I @ # fHemmger
T T ST STy
Section-A
(Very Short Answer Type Questions)

AT 1Y e ATl T (ATaT)

Note: Answer all questions. As per the nature of the question you delimit your
answer in one word, one sentence or maximum up to 30 words. Each question carries

Imark. 4x1=04

Are: At TeAt BT ST S| ST 70 ST ol TATTER Tk 9163 , Teh SATe AT SATrehad
30 vTeat | UiE e hIfT2| Uedeh T2T 1 31k &7 2| 4x1=04
1. Compare internal and external security.
AT L& Ul sTel YLar § ST g |
2. Name the softwares available in MS office package.

MS Office H UTT ST JTeT HTFaRRT 3T A fofa |

3. From where do we get the ‘synonym’ option in MS Word?
UH. Tg. CER:) ‘synonym’ forered g9 el | ITH L Tohd 22
4. Write name of three DBMS.

& DBMS T AT saTsd |
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Section-B
(Short Answer Questions)
oY I AT T

Note: Answer any 2 questions. Each answer should not exceed 200 words. Each

question carries 4 marks. 2x4=08

e FaterRaa & & feredl 02 w2it & ST Y| 21T 31U 3T Rt tferehaw 200 wisst o
aftefira SRR wee T 4 afent T 3|
5. Differentiate between TCP/IP and FTP.
TCP/IP T& FTP H 3fe &7 |
6. How a search engine works?
g oft T S e T LT 82
7. Compare between CAI and CME.
Y T 37T, TS . T, 3. o WeT Il T I |
8. Write the features of personal computer.
TorelT Tt et T forRIwaTat o1 Secr i |
Section ‘C°
(Long Answer Questions)
(STl IT AT T2N)
Note: Answer any one question. You have to delimit your each answer maximum up to

800 words. Each question carries 08 marks.

e : FreaforRaa & & forelt 01 321 o1 ST SifSTUjeTTUshl 3797 Jcsh ST ot SAferhay 800 Ysal
TiEfifire T ) Telieh T 08 iRt T 2
1x8=08

9. Write a brief account on generation of computer.
Y o NG o gavf H e foreqd o Teqd shifoiy |

10. Suppose you want to purchase a computer, what kind of computer configuration

will you prefer? Explain the functionality of each term in the configuration.

T TSI 3T 31T T Het EieAT ATed @ | Fohe TR oh Shefet hif-HTRR hi 31T
SATET YTE HTN? IH BRI o Tedeh 3T o 1 ehl AT ST |
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